FAST WATER DRAIN




@XW 37

121,5x82x24cm

FASTENERS

M4 * 50 (14PCS) M4 * 35 (8PCS) M4 * 25 (3PCS) M3 * 16 (14PCS)

M4 * 60 (2PCS)

WOOD PIECES

=




Assembly Instructions

1

©

©

@)

M3 * 16 (8PCS]

=

M4 * 50 (14PCS)












